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Finding elementary Pythagorean spheres

using only one of the components(x, y, z, R)
(1) Mariam Khaled Al- Nedewy

(2) Dr. Abd Albaset Alkhateeb (3)Dr. Mohamed Nur Shamma

Summary:

In this paper we present new method for generating a Pythagorean

sphere (x,y,z,R):

1) Given the component x,
2) Given the component y or z,

3) Given the radius R.

This is within specific conditions for each method of finding out
the Pythagorean sphere with center O and radius R, and
containing its correct circumference (x,y,z) , if we can know

only one of the four compounds:(x, y, z, R).

Key words:Sphere, Pythagorean sphere, generation

Pythagorean sphere,

Pythagorean radius R, Pythagorean Point, greatest common

divisor, remainder.
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